4 2370 om i
165, 408 484 38, 4 2,838 12, 328 12, 327 124 3278 35, 461 "
LR £ gl L) il T 7
¥ 7.37" p 120y 204 120 4 129, 1,19 531° 81y 327 ¥
-." ] % 18,74 : ! 4
‘ 8e 8l 2le | 52
1
; e -
\'\ 3 q i g AN 104 | best |
\, ¢_::o.oo et 00 | BST |
P o
105 80N /I
119 % N 47,38 m2 | -
L3 Y,
%\% _'L 4 Kiiche
N _%_ 1 T _;0__ TR N B ) : | best. Raum
A ! o .
B g ‘ ¢, g\“ﬁ‘:ﬁ“ [ 29,73 m2
\ x ;‘;:‘9’ I
8 §_ 1 8 é- i g =g I é_S: - _¢4.17
[ A Gang 000 | i
100 5 idharzbode [ E
210/ ®ia l \ zf'f_:;.,.z - ¢ o i
oo
Wi latz B 8
e I w5/ TR T L ol e
Epoxidharzboden +0,0Q; } S e ae
19 651 m2 1 ¢ : / "1"; & ? i i
! | g
——| I ——— ngEEy e | Diele
h 320
100 iIJehrzwockraum, % 100 _¢_'°‘°7 [ 160 32,17 m2
54 |Epoxidharzboden  f|[ 7 = [
[41.04 m2 iy -1t
1. - best.Hof L
108 | | 7 « )
119 | - /./ @ 10
g | 8|8 zl 200
|| g
il | A2
108 ] lgff
2 t & ¢zo.ou ¢_m.oo
m !
Epoxidharzboden * [ ‘ 11100 e __AC
Mmooy e e b ) best.Einfahrt
i i 1 ger best.Garage
/ n
105 ¥ | l 0,16 m2 _¢_*’-22
119 /.’ l l
7
/ [ =
/ ol 3l
B[z N[2
g\% | o=
B
98
575 -
e 2 . Erdgeschoss M=1:100
89 50 35 A0 291 4
63 &

12






